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Class:-VI    

           Time- 1½ Hrs.   

1. Which state topped in 2020 Khelo India Youth Games?   

2. Which Indian Javelin Thrower 

3. Recently which Basketball Player Died in Helicopter Crash? 

4. Who won the Pro-Kabaddi League

5. What is the current ODI Ranking of Indian Cricket Team? 

6. Who got FIFA Best Player (Male) award in 2019? 

7. Which country is going to Host 2020 Cricket world cup? 

8. 2020 Olympic will be Held in which country? 

9. What is the new name of Feroz Sah Kottla Stadium?  

10. What is the current T 20 Ranking of Indian Cricket Team? 

 

11. How should I treat a common sports injury immediately after it happens?   

12. What are the main objectives of First AID

13. Explain briefly strain and sprain? 

14. What is skeletal system and its function? 

15. Write any six terminology of cricket. 

 

16. What is Bone Explain? How many types of bones in our body? 

17. Draw a neat and clean diagram of cricket ground with it’s measurements. 

18. Write any five international cricket players name (Male) along with its achievements. 
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Section - A 

Khelo India Youth Games?      

Thrower Qualifies for Tokyo Olympic?   

Recently which Basketball Player Died in Helicopter Crash?    

League Title in 2019?     

What is the current ODI Ranking of Indian Cricket Team?    

Who got FIFA Best Player (Male) award in 2019?     

Which country is going to Host 2020 Cricket world cup?    

in which country?      

What is the new name of Feroz Sah Kottla Stadium?      

What is the current T 20 Ranking of Indian Cricket Team?    

Section - B 

How should I treat a common sports injury immediately after it happens?   

What are the main objectives of First AID?      

ain and sprain?        

What is skeletal system and its function?      

Write any six terminology of cricket.       

Section - C 

xplain? How many types of bones in our body?   

Draw a neat and clean diagram of cricket ground with it’s measurements. 

Write any five international cricket players name (Male) along with its achievements. 
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How should I treat a common sports injury immediately after it happens?     [3] 

   [3] 

   [3] 

   [3] 

   [3] 

   [5] 

Draw a neat and clean diagram of cricket ground with it’s measurements.    [5] 

Write any five international cricket players name (Male) along with its achievements.  [5] 
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I. Choose the correct option:- 

      1.  S.I unit of length is   

 (a) km     (b)

      2.  David is observing his image in a plane mirror. The distance between the mirror and 
his image is  4m. If he moves 1m away from the mirror then the distance between 
David and his image will be 

 (a) 3m    (b)

II. Answer the following in one sentence: 

       1.  What do you mean by a battery?

       2.  State one way of demagnetization.

III. Answer the following briefly:

      1.  A student measured the length of his pencil using a scale. The scale reading at one end 
of the pencil was 2 cm and at the other end of the pencil
is the length of the pencil?  

     2.  Can you think of creating a shape that would give a circular shadow if held in one way 
and a rectangular shadow if held in another way? 

     3.  What do you mean by shadow?  
Classify these as opaque, transparent or  translucent:
aluminium foil .    

IV. Long answer type questions: 

     1.  Why could you not use an elastic measuring tape t
The distance between Radha’s 
 in Km.        

     2.  Why should an electrician use rubber gloves while repairing an electric switches at your 
home?  Explain.         
What do you mean by an electric circuit? Draw a circuit diagram for a closed circuit 
having two cells, one bulb and a switch.

    3.  A bar magnet has no markings to indicate its poles. How would you find out near which 
end is its north pole located?  
Where are the poles of a bar magnet located? Draw the magnetic lines of force
magnet.       

    4.  You are given an iron strip. How will you make it into a mag
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b) mm  (c) cm   (d) m

David is observing his image in a plane mirror. The distance between the mirror and 
4m. If he moves 1m away from the mirror then the distance between 

 

) 4m   (c) 10m  (d) 6m

Answer the following in one sentence: - 

What do you mean by a battery?       

emagnetization.      

Answer the following briefly:- 

A student measured the length of his pencil using a scale. The scale reading at one end 
of the pencil was 2 cm and at the other end of the pencil, the reading was 12.8 cm. What 

       

Can you think of creating a shape that would give a circular shadow if held in one way 
rectangular shadow if held in another way?     

What do you mean by shadow?         
Classify these as opaque, transparent or  translucent:- moon, a piece of rock, as sheet of 

  

Long answer type questions: - 

Why could you not use an elastic measuring tape to measure distance?  
The distance between Radha’s home and her school is 3250 m. Express this distance

       
Why should an electrician use rubber gloves while repairing an electric switches at your 

       
What do you mean by an electric circuit? Draw a circuit diagram for a closed circuit 
having two cells, one bulb and a switch.      

A bar magnet has no markings to indicate its poles. How would you find out near which 
 

Where are the poles of a bar magnet located? Draw the magnetic lines of force
       

You are given an iron strip. How will you make it into a magnet?  
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m 

David is observing his image in a plane mirror. The distance between the mirror and  
4m. If he moves 1m away from the mirror then the distance between  

6m 

            [1] 

   [1] 

A student measured the length of his pencil using a scale. The scale reading at one end  
the reading was 12.8 cm. What  

   [2] 

Can you think of creating a shape that would give a circular shadow if held in one way  
   [2] 

            [2] 
moon, a piece of rock, as sheet of 

 
home and her school is 3250 m. Express this distance 

   [3] 
Why should an electrician use rubber gloves while repairing an electric switches at your 

    
What do you mean by an electric circuit? Draw a circuit diagram for a closed circuit  

   [3]        

A bar magnet has no markings to indicate its poles. How would you find out near which  

Where are the poles of a bar magnet located? Draw the magnetic lines of force of a bar  
     [3] 
    [3] 



 

V. Very long answer type questions: - 

       1.  (a) What do you mean by Magnetic compass?  
            (b) On which property of magnet does it work? State the same property of magnet.  

 (c) How is a compass used to find directions?  
(d) Draw a well labelled diagram of magnetic compass.     [5] 

            OR 

2. (a) Distinguish between conductors and insulators.  
(b) What do you mean by an electric bulb?  
(c) Name the metal used to make filament of the bulb.  
(d) Draw a labelled diagram of an electric bulb. 

CHEMISTRY 

I. Choose the correct option            [1x2=2] 

        1. Which of the following  floats in water 

 a) Wood  b) Soil   c) Metal coin   d) Stone 

        2. Common salt is recoverd from sea water by process of  

 a) Filtration   b) Condensation c) Evaporation   d) Sieving 

II. Answer the following in one sentence: -       [1x3=3] 

        1.  Name the two Process through which water vapour enters the atmosphere. 

        2.  State whether burning of paper is a reversible change or an irreversible change and  

    explain   your answer. 

        3. A bag of cement lying in the open gets wet due to rain during the night. The next day  

    the  sun shines brightly. Do you think the changes, which have occurred in the  

    cement, could be reversed? 

III. Answer the following briefly:-        [2x4=8] 

1. a) Add one teaspoon of sugar and stir well. The sugar will dissolve completely. Go on  
        adding sugar till you find that some sugar remains  undissolved. What is the name  
        given to the prepared solution? 

         b) When do you label a material as opaque? 

   2.   a) How is sand separated from larger particles like pebbles? 

                  b) Explain how grain seeds are separated from stalks. 

3.  When a pot of freshly cooked rice is opened, there are always tiny drops of water on  

     the  underside of the lid of the pot. Explain how this happens. 

4.  a) Does your locality use ground water? If yes , then how the  level of ground water can  

    be maintained? 

          b) What is conservation of water? 
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IV.  Long answer type questions: -        [3x3=9]  
      
1. Some changes are listed below. For each change write whether the change can be reversed or 

not. 

a) Sawing of a piece of wood 

b) Melting of ice candy 

c) Dissolving sugar in water 

d) Cooking of food 

e) Ripening of mango 

f) Souring of milk 

 

2. a) With the help of an activity show that burning can occur only in presence of oxygen. 
    (Draw the  diagram also) 

b) Explain why, if the clothes of a person catch fire accidently, he is covered with a  
     woollen blanket. Give reason for your answer. 

      3.  In what ways is evaporation affected by 

 a) Heat  b) Humidity  c) Surface area 

   V. Very long answer type questions: -       [5x1=5] 

      1.  a) Draw a labelled diagram of a windmill. 

                b) Mention three uses of the windmill 

OR 

2. a) Draw a labelled diagram of the composition of air 

                b) Which gases are released during 

        (i) Photosynthesis (ii) Burning   (iii) Respiration 

BIOLOGY 

I. Choose the correct option: -              [1x2=2]  

1. Vitamin D is important for the absorption of which mineral by the body?   

a. Calcium  b. Iron   c. Iodine   d. Zinc 

2. The small bones that make our wrist are called   

a. Tarsals   b. Carples  c. Metacarples d. Metatarsals 

II. Answer the following in one sentence: - 

1. Why is chlorophyll necessary for the process of photosynthesis?     [1] 

2. How are seeds different from grains?        [1] 

III. Answer the following briefly:- 

1. What is obesity? Name two diseases caused due to obesity.                 [1+1=2] 
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2. Mention two differences between natural and synthetic fibres.     [2] 

3. Explain why speed is important for survival in the grassland for animals that live there. [2] 

4. Mention two ways to minimize use of plastics and deal with garbage.   [2] 

IV. Long answer type questions: - 

1. a. Do you think it is better to use compost instead of chemical fertilizers? Why? Mention   
     two reasons. 

b. What do you understand by the term landfill?                    [2+1=3] 

2. a. Mention two differences between bone and cartilage. 

b. Draw a diagram to show a ball and socket joint.                      [2+1=3] 

3. a. Mention one point of difference between creepers and climbers. Give one example  

   of each.  

b. If a plant has tap root, what type of venation will its leaves have? 

c. If a plant has leaves with parallel venation, what kind of root will it have? [2+½+½=3] 

V. Very long answer type questions: - 

1. a.  Define adaptation. 

b. Mention two adaptations of a camel that helps it to survive in desert conditions. 

c. Draw a diagram of any two desert animals that stay in burrows deep in the sand.   

OR 

       2.  a. Differentiate between the terms habitat and adaptation. 

b. Mention two adaptations of plants growing in desert areas. 

c. Draw diagram of a desert plant and label any two parts.     [2+2+1=5] 

 

****************** 

 

 

 

 

 

 

 

 

Pg – 4 of 4 

 



 

                                            

d{kk& N%d{kk& N%d{kk& N%d{kk& N%                

le;& le;& le;& le;& 3 ?kaVs?kaVs?kaVs?kaVs                

funs”k%& funs”k%& funs”k%& funs”k%&  

1. lHkh iz”uksa ds mŸkj lHkh iz”uksa ds mŸkj lHkh iz”uksa ds mŸkj lHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAnsuk vfuok;Z gaSAnsuk vfuok;Z gaSAnsuk vfuok;Z gaSA    

2. Øekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaA    

1. fuEufyf[kr fuEufyf[kr fuEufyf[kr fuEufyf[kr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &

okjk.klh ls pkj ehy nwj yegh esa “kfuokj 31 tqykbZ] lu~ 1880 dks /kuirjk; dk tUe gqvkA ek¡ &
uke j[kk Fkk & /kuirA pkpk ykM+ I;kj esa 
esa fdjkuh Fks] blh ls yksx mUgsa eqa”kh vtk;cyky dgk djrs A ekrk dk uke Fkk vkuanhA vDlj chekj jgrhA 
firk dks nok &nk: ls Qqjlr ugha feyrh FkhA 

  /kuir lkr o’kZ dk gh gqvk fd ek¡ py clhA ek¡ ds fcNksg us /kuir ds cpiu dk lkjk jl 
lks[k fy;kA dqN o’kZ ckn eqa”kh vtk;cyky us nwljh “kknh dhA vHkko vkSj vfHk;ksx rks igys ls Fks gh] foekrk 
dk fu’Bqj O;ogkj Hkh muesa vk feykA ubZ ek¡ ckr&ckr ij Mk¡Vrh FkhA m
nh[krhA  

dnkfpr~ izsepan vius miU;kl *deZHkwfe* ds ik= panzdkar ds n~okjk [kqn
mez gS tc balku dks eqgCcr dh lcls T;knk t:jr iM+rh gSA ml oDr ikS/ks dks rjh fey tk, rks ftaUnxh 
&Hkj ds fy, mldh tM+sa etcwr gks tkrh gSaA esjh ek¡ ds nsgkar ds ckn esjh :g dks [kqjkd ugha feyhA ogh 
Hkw[k esjh ftUnxh gSA** 

iz”u%& 

(d) /kuir jk; dk tUe dgk¡ vkSj dc gqvk Fkk

([k) izsepan ds ekrk&firk dk D;k uke Fkk

(x) foekrk (ubZ ek¡ ) dk izsepUn ds izfr dSlk O;gkj Fkk

(?k) izsepan n~okjk fyf[kr *miU;kl* ,oa mlds izeq[k ik= d

    mez esa eqgCcr dh lcls T;knk t:jr iM+rh gS

(³) fuEufyf[kr “kCnksa ds foykse “kCn fy[ksa&

 (i)  chekj   (ii)  

2. fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&

  cq>k nhi >k¡lh dk rc MygkSth eu esa gj’kk;k] 

jkT; gM+i djus dk mlus ;g vPNk volj ik;k]

Q+kSju Q+kStsa Hkst nqxZ ij viuk >aMk Qgjk;k]

Ykkokfjl dk okfjl cudj fczfV”k jkT; >k¡lh vk;k]

 vJqiw.kZ jkuh us ns[kkA

 >k¡lh gqbZ fcjkuh FkhA

 cqansys gjcksyksa ds eq¡g 

fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                    okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk (2019-20)     

                                                            fo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnh

                                            iw.kkZad&8iw.kkZad&8iw.kkZad&8iw.kkZad&8

([k.M & d[k.M & d[k.M & d[k.M & d)    
x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &        

okjk.klh ls pkj ehy nwj yegh esa “kfuokj 31 tqykbZ] lu~ 1880 dks /kuirjk; dk tUe gqvkA ek¡ &
uke j[kk Fkk & /kuirA pkpk ykM+ I;kj esa dgk djrs Fks & uokcA firk dk uke Fkk vtk;c ykyA Mkd[kkus 
esa fdjkuh Fks] blh ls yksx mUgsa eqa”kh vtk;cyky dgk djrs A ekrk dk uke Fkk vkuanhA vDlj chekj jgrhA 
firk dks nok &nk: ls Qqjlr ugha feyrh FkhA  

’kZ dk gh gqvk fd ek¡ py clhA ek¡ ds fcNksg us /kuir ds cpiu dk lkjk jl 
lks[k fy;kA dqN o’kZ ckn eqa”kh vtk;cyky us nwljh “kknh dhA vHkko vkSj vfHk;ksx rks igys ls Fks gh] foekrk 
dk fu’Bqj O;ogkj Hkh muesa vk feykA ubZ ek¡ ckr&ckr ij Mk¡Vrh FkhA mls /kuir esa cqjkb;k¡ gh cqjkb;k¡ 

nkfpr~ izsepan vius miU;kl *deZHkwfe* ds ik= panzdkar ds n~okjk [kqn viuh gh O;Fkk lquk jgs gSa] *c
dh lcls T;knk t:jr iM+rh gSA ml oDr ikS/ks dks rjh fey tk, rks ftaUnxh 

fy, mldh tM+sa etcwr gks tkrh gSaA esjh ek¡ ds nsgkar ds ckn esjh :g dks [kqjkd ugha feyhA ogh 

jk; dk tUe dgk¡ vkSj dc gqvk Fkk\       

izsepan ds ekrk&firk dk D;k uke Fkk\ iszepan ds firk D;k dke djrs Fks\  

dk izsepUn ds izfr dSlk O;gkj Fkk\     

izsepan n~okjk fyf[kr *miU;kl* ,oa mlds izeq[k ik= dk uke fy[ksa\ muds vuqlkj thou ds fdl 

mez esa eqgCcr dh lcls T;knk t:jr iM+rh gS\      

yf[kr “kCnksa ds foykse “kCn fy[ksa&       

(ii)  uQjr 

fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&fuEufyf[kr dkO;ka”k dks i<+dj fn, x, iz”uksa ds mŸkj fyf[k,%&    

cq>k nhi >k¡lh dk rc MygkSth eu esa gj’kk;k]  

jkT; gM+i djus dk mlus ;g vPNk volj ik;k] 

Q+kStsa Hkst nqxZ ij viuk >aMk Qgjk;k] 

Ykkokfjl dk okfjl cudj fczfV”k jkT; >k¡lh vk;k] 

vJqiw.kZ jkuh us ns[kkA 

>k¡lh gqbZ fcjkuh FkhA 

gjcksyksa ds eq¡g  
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okjk.klh ls pkj ehy nwj yegh esa “kfuokj 31 tqykbZ] lu~ 1880 dks /kuirjk; dk tUe gqvkA ek¡ & cki us 
dgk djrs Fks & uokcA firk dk uke Fkk vtk;c ykyA Mkd[kkus 

esa fdjkuh Fks] blh ls yksx mUgsa eqa”kh vtk;cyky dgk djrs A ekrk dk uke Fkk vkuanhA vDlj chekj jgrhA 

’kZ dk gh gqvk fd ek¡ py clhA ek¡ ds fcNksg us /kuir ds cpiu dk lkjk jl 
lks[k fy;kA dqN o’kZ ckn eqa”kh vtk;cyky us nwljh “kknh dhA vHkko vkSj vfHk;ksx rks igys ls Fks gh] foekrk 

ls /kuir esa cqjkb;k¡ gh cqjkb;k¡ 

viuh gh O;Fkk lquk jgs gSa] *cpiu og 
dh lcls T;knk t:jr iM+rh gSA ml oDr ikS/ks dks rjh fey tk, rks ftaUnxh 

fy, mldh tM+sa etcwr gks tkrh gSaA esjh ek¡ ds nsgkar ds ckn esjh :g dks [kqjkd ugha feyhA ogh 

  [2] 

  [2] 

  [2] 

muds vuqlkj thou ds fdl  

  [2] 

  [1] 



 

 geus lquh dgkuh FkhA 

 [kwc yM+h enkZuh og rks 

 >kalhokyh jkuh FkhAA 
iz”u%&iz”u%&iz”u%&iz”u%&               [1x6=6] 

(d) MygkSth eu gh eu dc gj’kk;k\   
([k) QkSt Hkstdj mlus nqxZ ij D;k fd;k\ 
(x) vJqiw.kZ jkuh us D;k ns[kk\ 
(?k) fczfV”k jkT; >k¡lh dSls vk;k\  
(³) nqxZ] >aMk    (,d&,d i;kZ;okph “kCn fy[ksA) 
(p) dkO;ka”k dk ,d mi;qDr “kh’kZd fy[ksaA 

([k.M & [k[k.M & [k[k.M & [k[k.M & [k    )    
3. milxZ fdls dgrs gSa\ mnkg.k ns dj Li’V djsaA        [2] 
4. fn, x, eqgkojksa ds vFkZ fy[ksa %&          [2] 

  (i)  vDy ij iRFkj iM+uk 
  (ii)  vkLrhu dk lk¡i 
5. vdeZd ,oa ldeZd fØ;k esa mnkgj.k ds lkFk varj Li’V djsaA      [2] 
6. fyf[kr ,oa ekSf[kd Hkk’kk ds ,d&,d mnkgj.k fy[ksaA        [1] 
7. fyax cnysa %             [1] 
 (i)  cw<+k   (ii)  Bkdqj  
8. v”kqn~/k orZuh dks “kqn~/k djds fy[ksa % &         [1] 

 (i)  lIrkfgd   (ii)  ifj{kk 
9. dks’Bd esa fn, x, “kCnksa dh Hkkookpd laKk Hkjdj okD; iwjk dhft,%&           [½x2=1] 

(d)  [ksrksa esa -------------------------dk dke py jgk gSA (dkVuk) 
([k)  lHkh O;fDr;ksa esa dqN u dqN -----------------------------vo”; gksrh gSA (vPNk) 

10. fn, x, vusdkFkZd “kCnksa ds fdlh ,d dk vFkZ fy[ksa A        [1] 
ikuh vFkok    lqj  

11. fn, x, “kCnksa ds ,d&,d i;kZ;okph “kCn fy[ksaA       [1] 
(d)  ve`r   ([k)  i`Foh 

12. (d)  vusd “kCnksa ds fy, ,d “kCn fy[ksa &          [1] 

  (i)  lnk jgus okykA 

  (ii)  izR;sd ekl gksus okykA 

([k)  rRle ,oa rn~Hko “kCnksa ds ,d&,d mnkgj.k fy[ksaA       [1] 

(x)  dks’Bd esa fn, le:ih fHkUUkkFkZd “kCnksa n~okjk okD; esa fjDr LFkkuksa dh iwfrZ djsaA    [1] 

(i)  jke ---------------------- y{e.k ioZr dh -----------------------x,A (vksj] vkSj)   

(ii)  ,d yEch -------------------- ls ------------------------ Hkk’kk dk iz;ksx gks jgk gSA (vo/kh] vof/k)   
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 ([k.M & x) 
13. fuEufyf[kr  iz”uksa ds laf{kIr mÙkj nsa &            [1x5=5] 

 (d)   ds”ko vkSj “;kek us fpfM;k ds vaMksa dh j{kk dh ;k muds lkFk uknkuh dh\ 

 ([k)   pk¡n dks dSlh chekjh gS\ 

(x)   *fVdV vyce* dgkuh dss ys[kd dk uke fy[ksaA 

(?k)   *yksdxhr* *”kkL=h; laxhr ls fHkUu dSls gS\ 

(³)   xk¡/kh th fdl dk;Z n~okjk gtkjksa :i, dekrs Fks\ 

14. *fdlus dgk* ,oa *fdlls dgk*%&  

 (d)   ;g 43332 uEcj gSA th] th gk¡A cksy jgk gw¡------------------dkSu\      [1] 

 ([k)   bl nqfu;k ds vyx&vyx lqUnj jax mudh laosnuk dks ugha NwrsA    [1] 

15. ikB ds vk/kkj ij %&               [1x2=2] 

(d)   okD; cuk,¡ & 
 (i)  ioZr  (ii)  vaMs 

([k)   *,sls &,sls* ikB ] dgkuh] fuca/k] ;k ,dkadh buesa ls D;k gS rFkk buds ys[kd dk uke Hkh fy[ksA [1] 

16. dfork dh iafDr;k¡ iwjh djsa % &           [2] 

 gkFk idM+ fQj lnk gekjs 

 lkFk ugha fQjrh --------------------------- 
 vius ------------------------------ls f[kyk] /kqyk eq[k 
 /kwy iksaN]------------------------dj xkr 
 Fkek ---------------------ugha lqukrh 
 gesa lq[kn ifj;ksa dh ckrA 

17. fuEufyf[kr iz”Ukksa ds mÙkj nsa &             [2x5=10] 

 (d)   *og fpfM+;k tks* esa fpfM+;k dk LoHkko dSlk Fkk\ mls fdu&fdu pht+ksa ls I;kj gS\ 

 ([k)   dUVªksy :e esa tkdj NksVw us D;k ns[kk vkSj ogk¡ mlus D;k gjdr dh\ 

 (x)   jktIik us ukxjktu dk fVdV vyce v¡xhBh esa D;ksa Mky fn;k\ 

 (?k)   *ftu yksxksa ds ikl vk¡[ksa gSa] os lpeqp cgqr de ns[krs gSa* & gsysu dsyj dks ,slk D;ksa yxrk gS\ 

(³)   vkJe esa dke djus ;k djokus dk dkSu lk rjhdk xk¡/kh th viukrs Fks\ fyf[k,A 

18. ifBr xn~;ka”k dks /;kuiwoZd i<+dj iz”uksa ds mÙkj nsa%&  

 fL=;k¡ <ksyd dh enn ls xkrh gSaA vf/kdrj muds xkus ds lkFk ukp dk Hkh iqV gksrk gSA 
xqtjkr dk ,d izdkj dk nyh; xk;u *xjck* gS ftls fo”ks’k fof/k ls ?ksjs esa ?kwe&?kwedj vkSjrsa xkrh gSaA lkFk 
gh yM+fd;k¡ Hkh ctkrh gSa tks ckts dk dke djrh gSaA blesa ukp &xku lkFk pyrs gSaA oLrqr% ;g ukp gh gSA 
lHkh izdkj esa ;g yksdfiz; gks pyk gSA blh izdkj gksyh ds volj ij czt esa jfl;k pyrk  gS ftls ny ds 
ny yksx xkrs gSa] fL=;k¡ fo”ks’k rkSj ijA xk¡o ds xhrksa ds okLro esa vuar izdkj gSA 
thou tgk¡ bByk&bBykdj ygjkrk gSaA 
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(d)   xqtjkr dk nyh; xk;u D;k dgykrk gS\           [1x4=4] 

([k)   gksyh ds volj ij D;k pyrk gS\ 

(x)   xk¡o ds xhrksa esa D;k ygjkrk gS\ 

(?k)   L=h ,oa yM+fd;k¡ dk foykse “kCn fy[ksaA 

19. ewY;ijd iz”u %&            [2] 

 (d)   thou esa vki dfBu ls dfBu dke dks dSls vklkuh ls dj ik,¡xsA bl laca/k esa fopkj fy[ksa A  

 ([k)   vkids ?kj esa ik¡p lnL; gSaA lHkh vkils cM+s gSA ?kj dk iwjk dke vdsys vkidh ekrk th djrh gSaA 
       vki ,slk D;k dne mBk,xsa fd lkjs dke dk cks> vkidh ekrk ij ugha iM+sA     [2] 

20. jke dFkk ij vk/kkfjr iz”uksa ds mÙkj fy[ksaA 

 (d) jke ds jkT; dh fo”ks’krk fyf[k,A          [2] 

([k) es?kukn dk uke bUnzftr D;ksa iM+k\          [2] 

(x) guqeku dh ijNkbZ leqnz esa dSlh fn[kkbZ ns jgha Fkh\       [1] 

(?k) jko.k fdl os”k esa lhrk dqfV;k esa vk;k Fkk\        [1] 

(³) jke dks lqxzho ls feyus dh lykg fdlus nh\       [1] 

(p) jktk n”kjFk fdls ;qojkt cukuk pkg jgs Fks\       [1] 

(N ) jktk n”kjFkk dks ;K djus dh lykg fdlus nh\       [1] 

(t)  Hkjr dks ufugky ls ykSVus ij v;ks/;k uxjh dSlh yxh\      [1] 
 

([k.M & ?k[k.M & ?k[k.M & ?k[k.M & ?k)    

21. fdlh ,d fo’k; ij vuqPNsn fy[ksa %&          [5] 

 (d) le; dk lnqi;ksx 

 ([k) olar _rq 

 (x) esjh fiz; f”kf{kdk   vFkok   esjk fiz; [ksy 

i= ys[kui= ys[kui= ys[kui= ys[ku      [5] 

22. (d) iqLrdsa [kjhnus ds fy, :i;s Hkstus dk vuqjks/k djrs gq, firkth dks i= fyf[k,A  
        vFkok 

([k) vius tUe fnu ij nknk th n~okjk migkj esa feyh lkbfdy ds fy, /kU;okn i= fy[ksaA 
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General instructions:- 

1. All questions are compulsory.

2. The question paper consists of 40 questions divided into 4 sections A,B,C and D. 

Section A comprises of 20 questions of 1 mark each.

of 2 marks each. Section C 

comprises of 6 questions of 4 marks each.

3. There is no overall choice.

questions of 4 marks each, two

each and two questions of 1 mark each.

in all such questions.  

4.  Use of calculator is not permitted.

 

      

           Directions-(Q no. 1 – 10) From MCQ choose most appropriate answer.

1. In a division sum, we have dividend

(a) 11                   (b) 23                 

2. Which of the following is not zero?

(a) 0×0                 (b)  
�

�
                   

3. The least number should be replaced by * so that the number 37610*2 is exactly divisible by 9

(a) 8                       (b) 7                   

4. If a bicycle has 36 spokes, then the angle between a pair of adjacent spokes is

(a) 10°                   (b) 15°               

5. The decimal lying between 3.2 and 3.22 is

(a) 3.118               (b) 3.218          

6. The number of lines of symmetry of a kite is

(a) 0                       (b) 1                 

7. Compare     
�

�
 � 

�

�
      	  




�
 � 

�



 

(a) >                       (b) <                 

8. The value of 86 + (-28) + 12 + (-34) is equal to

(a) � 36                   (b) 40          

9. How many 4-digit numbers are there in all?

(a) 8999                (b) 9000          

DELHI PUBLIC SCHOOL
  SAIL TOWNSHIP, RANCHI 
  ANNUAL EXAMINATION (2019-20) 

                          Subject:

               M.M.

 

All questions are compulsory. 

The question paper consists of 40 questions divided into 4 sections A,B,C and D. 

comprises of 20 questions of 1 mark each. Section B comprises of 6 questions 

Section C comprises of 8 questions of 3 marks each and 

ses of 6 questions of 4 marks each. 

There is no overall choice. However an internal choice has been provided in two 

questions of 4 marks each, two questions of 3 marks each, two questions of 2 marks 

each and two questions of 1 mark each. You have to attempt only one of the alternatives 

 

Use of calculator is not permitted. 

       SECTION- A    

10) From MCQ choose most appropriate answer. 

In a division sum, we have dividend = 199, quotient= 16 and remainder = 7. The divisor is

(b) 23                  (c) 12                  (d) 19 

Which of the following is not zero? 

                    (c) 
�
�
�

�
              (d) 4+ 0 

number should be replaced by * so that the number 37610*2 is exactly divisible by 9

(b) 7                    (c) 6                   (d) 5 

If a bicycle has 36 spokes, then the angle between a pair of adjacent spokes is 

(b) 15°                (c) 20°               (d) 12° 

The decimal lying between 3.2 and 3.22 is 

(b) 3.218            (c) 3.3                (d) 3.23 

The number of lines of symmetry of a kite is 

              (c) 2                    (d) 3 

(b) <                   (c) =                    (d) none 

34) is equal to 

(b) 40                 (c) 36                  (d) – 40  

digit numbers are there in all? 

(b) 9000            (c) 8000              (d) none 
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  [1x20=20] 

= 7. The divisor is 

number should be replaced by * so that the number 37610*2 is exactly divisible by 9 



 

10. One of the base angles of an isosceles triangle is 70°. The vertical angle is 

(a) 35°                   (b) 40°               (c) 70°                 (d) 80° 

           Direction- (Q no.11 - 15) Fill in the blanks. 

11. If the HCF of two numbers is 16 and their product is 3072, then their LCM is ………………. 

12. ……………… should be subtracted from -120 to obtain 305. 

13. The number of times an observation occurs in the given data is called the ………………. 

14. The length and breadth of a rectangle are 10cm and 8cm respectively. If its length is doubled, then its 
new area is …………………. 

15. Mean proportion of 9 and 25 is …………….. 

                  OR 

If 3, x, 12 are in continued proportion, find the value of x. 

           Direction- (Q no.16 – 20) Justify the following statement as true or false. 

16. Equivalent fraction of 
�

��
 with numerator 35 is 


�

��
 .     

17. x=5 is a solution of the equation x+5=0 

18. 33, 44, 75, 100 are in proportion. 

19. 0.75 is a decimal greater than 



�
  

20. A square can be thought of a special rectangle. 

                   OR 

A tetrahedron has 4 faces, 6 edges and 4 corners. 

                                                                    SECTION –B     [2x6=12] 

21. Simplify 3845 x 5 x 782 + 769 x 25 x 218 by using distribution of multiplication over addition.  

22. Write the greatest four-digit number and express it in terms of its prime factors. 

23. Three frogs start hopping on leaves in a pond. The three jump on intervals of 9, 12, 15 leaves respectively. 
If they start hopping together from the same leaf, on which leaf they do meet again. 

                                         OR 

Determine the greatest 3-digit number exactly divisible by 8, 10 and 12. 

24. Draw rough diagram of two angles such that they have 

(a) Two points in common  (b) Three points in common. 

   25. Find the area in square metre of a piece of cloth 1m 25cm wide and 2m long.  

                                           OR 
The area of rectangular piece of cardboard is 36 cm2 and its length is 9cm. What is the width of the 

cardboard? 
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25. Margarette works in a factory and earns Rs. 955 per month. She saves Rs. 185 per month from her 

earnings. Find the ratio of 

(a) her income to her expenditure 

(b) her savings to her expenditure 

                                                           SECTION - C      [3x8=24] 

26. Ravish has Rs. 78,592 with him. He placed an order for purchasing 39 radio sets at Rs. 1,234 each. How 

much money will remain with him after the purchase? 

27. An aeroplane is flying at a height of 2000m above the sea level. A submarine is moving at a depth of 

eight hundred metre below sea level position exactly below the aero plane. What is the vertical distance 

between the two? 

                                                                 OR 

If ∆ is an operation on integers such that for integers a and b, a ∆ b = a-b-(-2). Find the value of  

(a) (-3) ∆ (-4)           (b)  2 ∆ 3  

28. Soni travelled to her grandmother’s house which is 15km and 214m away. She travelled 6km by local 

train, 6km 500m by bus, 918m by auto rickshaw and rest on foot. How much did Soni travelled on foot? 

29. The population of Delhi state in different census years is as given below- 

Census year 1961 1971 1981 1991 2001 

Population(lakhs) 30 55 70 110 150 

  

Represent the above information with the help of a bar graph. 

30. Bob wishes to cover a wall of his room 14m×10m by a wall paper. Each wall paper sheet is a rectangular 

paper measuring 2m×0.5m. How many wall papers sheets would bob need to cover the wall? 

                                                                           OR 

A room is 12.5m long and 8m wide. A square carpet of side 8m is laid on its floor. Find the area of the 

floor which is not carpeted. 

31. Take Sarita’s present age to be y years. 

(a) What will be her age 7 years from now? 

(b) Her grandfather is 5 times her age. What is the age of her grandfather? 

(c) Grandmother is 4 years younger than grandfather. What is grandmother’s age? 

32. Consider the letters of English alphabet A to Z. List among them the letters which have 

(a) Vertical line of symmetry. 

(b) Horizontal line of symmetry. 

(c) No line of symmetry. 
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33. Draw an angle of 120° and divide it into 4 equal parts, using ruler and compass. Check   

your construction by measurement.                                                                

OR 

Draw a line segment of 12cm. Divide it into four equal parts. Check your construction by   

measurement.   

                                                              

                                                                 SECTION-D      [4x6=24] 

34. Draw figure to show: - 

(a) Where will the hour hand of a clock stop, if it starts from 10 and turns through 3 right angles? 

(b) What part of a revolution have you turned if you stand facing south and turn clockwise to face 

        East? 

35. The fish caught by Neha was of weight 3



�
 kg and the fish caught by Narendra was of 2

�

�
 kg. Whose fish 

weighed more and by how much?  

OR 

 Simplify: -      4 
�



 + 3 

�

�
 + 7 

�

�
  

36. A wire is in the shape of a rectangle, its length is 40 cm and breadth is 22 cm. If the same wire is rebent in 
the shape of a square, what will be the measure of each side? Also find which encloses more area?  

37. A car travels 165km in 3 hours. 

(a) How many hours will take to travel 440km? 

(b) How far will it travel in 7 hours? 

                                                               OR 

          Divide Rs. 3450 among Anu, Diksha and Kavita in the ratio 3:5:7. 

    39. The volume of a cuboid is given by the product of its length , breadth and height. The length of a 

cuboid is 3 times its breadth and the height is one – half of the length. Find its volume if breadth is  

b cm.   

    40. Draw any angle with vertex O. take a point A on one of its arm and B on another such that  

OA=OB. Draw perpendicular bisectors of OA and OB. Let them meet at point P. Is PA =PB?   

                                                                      OR 

Draw a circle of radius 6cm using ruler and compass. Draw any two of its chords. Construct the 

perpendicular bisectors of these two chords. Where do they meet?   
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General Instructions:- 
1. The question paper consists of three sections:

 Section A : Reading  
 Section B : Writing, Grammar
 Section C: Literature  

2. All questions are compulsory.
3. You may attempt any section at a 
4. All questions of that particular section must be attempted in the correct order.
 

A1.  Read the passage given below carefully.       
 

      

A king set out in quest of a saint. He found a saint sitting under a tree, in silent meditation. The king 

went and sat in front of him in silence. 

When the saint opened his eyes, the king found that his eyes were lit up with a strange light. He said to 

the saint: “Won’t you come with me to my country? I will give you everything you need. A section of 

the palace will be reserved for you. Servants will wait in attendance and do whatever you command”. 

The saint smiled, “I have no needs”, he answered. “I do n

no desire to come to your country”.

The point –blank refusal upset the king. He was very angry.

Taking out his sword, he said to the saint : “Do you know, I can cut you into pieces? I am the king of 

this country”.  

The saint smiled again and said quietly: “You have made two statements. The first is that you can cut 

me into pieces. No , you cannot cut me into pieces. You can only cut the body, which is but a garment I 

have worn. I am immortal. Your second statement

only a slave of my slave?” 

Puzzled the king said in anger:  “I do not understand.” The saint explained: ‘Anger is my slave. It is 

under my control. But you are a slave of anger. How easily you lose your

not a slave of my slave?” 

I. On the basis of the reading of the passage, answer the following questions in brief :

(a) What did the king request to the saint? What did he offer him?

(b) What made the king angry? 

 (c) What were the two statements made by the king to terrorise the saint? How did the 

      saint outwit him? 

(d) How was the king a slave of saint’s slave?

DELHI PUBLIC SCHOOL
  SAIL TOWNSHIP, RANCHI 
  ANNUAL EXAMINATION (2019-20) 

                          Subject:
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The question paper consists of three sections: 
    (20 marks) 

Grammar and vocabulary  (35 marks) 
    (25 marks) 

All questions are compulsory. 
You may attempt any section at a time. 
All questions of that particular section must be attempted in the correct order.

Section - A (Reading)         

Read the passage given below carefully.            

  THE WISE SAINT 

A king set out in quest of a saint. He found a saint sitting under a tree, in silent meditation. The king 

went and sat in front of him in silence.  

When the saint opened his eyes, the king found that his eyes were lit up with a strange light. He said to 

e saint: “Won’t you come with me to my country? I will give you everything you need. A section of 

the palace will be reserved for you. Servants will wait in attendance and do whatever you command”. 

The saint smiled, “I have no needs”, he answered. “I do not need servants to do my work. And I have 

no desire to come to your country”. 

blank refusal upset the king. He was very angry. 

Taking out his sword, he said to the saint : “Do you know, I can cut you into pieces? I am the king of 

The saint smiled again and said quietly: “You have made two statements. The first is that you can cut 

me into pieces. No , you cannot cut me into pieces. You can only cut the body, which is but a garment I 

have worn. I am immortal. Your second statement is that you are a conqueror. May I tell you, you are 

Puzzled the king said in anger:  “I do not understand.” The saint explained: ‘Anger is my slave. It is 

under my control. But you are a slave of anger. How easily you lose your temper! Therefore , are you 

On the basis of the reading of the passage, answer the following questions in brief :

(a) What did the king request to the saint? What did he offer him? 

(b) What made the king angry?  

(c) What were the two statements made by the king to terrorise the saint? How did the 

(d) How was the king a slave of saint’s slave? 
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        20 Marks 

                  [10] 

A king set out in quest of a saint. He found a saint sitting under a tree, in silent meditation. The king 

When the saint opened his eyes, the king found that his eyes were lit up with a strange light. He said to 

e saint: “Won’t you come with me to my country? I will give you everything you need. A section of 

the palace will be reserved for you. Servants will wait in attendance and do whatever you command”.  

ants to do my work. And I have  

Taking out his sword, he said to the saint : “Do you know, I can cut you into pieces? I am the king of 

The saint smiled again and said quietly: “You have made two statements. The first is that you can cut 

me into pieces. No , you cannot cut me into pieces. You can only cut the body, which is but a garment I 

is that you are a conqueror. May I tell you, you are 

Puzzled the king said in anger:  “I do not understand.” The saint explained: ‘Anger is my slave. It is 

temper! Therefore , are you 

On the basis of the reading of the passage, answer the following questions in brief :      [2x4=8] 

(c) What were the two statements made by the king to terrorise the saint? How did the  



 

 

 II. Vocabulary:                 [1x4=4] 

  1. The word ‘quest’ means …………….. 

       (a) a wish  (b) a question  (c) a search  (d) a line of people 

  2. The phrase ‘point- blank’ here is used as ……………… 

      (a) a noun   (b) an adjective (c) a verb  (d) an adverb 

  3. The word ‘ immortal’ means ……………. 

      (a) living forever  (b) dead  (c) alive  (d) strong 

  4. The opposite of ‘slave’ is …………………. 

      (a) follower  (b) attendant  (c) pupil  (d) master 

 

     A 2.  Read this passage and answer the questions given below:- 

     MAX MUELER – A GREAT FRIEND OF INDIA 

1.  Max Mueller was a distinguished German poet. Some of his poems were set to music by   

Austrian composer, Franz (Peter) Schubert.  

2.  As a youth, Max Mueller took to the study of the Sanskrit language with great devotion and 

started learning that language. He took his Doctorate in Philosophy in 1843. In Berlin 

University, he did research work on Sanskrit and Philosophy under eminent scholars.  

3.  In 1846, Max Mueller went to London in England to copy and collect manuscripts in Sanskrit. 

He translated Rig Veda which consists of 1,028 hymns addressed to different gods. As it was 

being printed at the London University Press, he migrated to Oxford in 1848 and spent the rest 

of his life there. 

4.  The first volume of Max Mueller’s edition appeared in 1849, the sixth and the last volume in 

1874. This printed Rig Veda caused great enthusiasm in India. Several publications on Indian 

religion and literature appeared in quick succession. Max Mueller became the greatest 

interpreter of India to the Western World.  

5.  His book ‘India-what it can teach us’ has a special place among his publications. But Max 

Mueller never visited India!  

6.  Max Mueller sought patiently and carefully information about India’s past and took the liveliest 

interest in her political reawakening. When he died in 1900 , India had really lost a great friend.  

I. On the basis of your reading of the above passage, complete the following sentences. [6] 

 (a) Some of Max Mueller’s poems were ……………… 

 (b) Although Max Mueller was a German he ………….. 

 (c) Max Mueller migrated to London because …………. 

 (d) The tow effects of the printed Rig Veda were: ………….. 

 (e) Although Max Mueller has written and published so many books on India but he himself….. 

 (f) India had lost a great friend when …………… 

II. Find words from the passage which have the same meaning as the following.  [2] 

 (a) distinguished (para 2)  (b) one who explains or translates (para 4)  
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                                 Section- B (Writing, Grammar and vocabulary)          [35 Marks] 

     B 3. On the basis of the given outlines develop a meaningful story: -      [7] 

  a hot summer day …………….. a fox prowling for food …………… searched every nook and 

  corner ……………. but in vain …………… came to a vineyard …………. saw ripe bunches …….tried 

to get hold of the grapes …………… but failed …………….. lastly said, ‘grapes are sour.’ 

………….never give excuses. Moral ……………. 

       OR 

Write a bright and cheerful letter to a friend who is in hospital. You are Amit/Amita staying at 101, 

Nehru place, Delhi. Your friend is Rahul.          

 

    B 4. Read the following telephonic conversation between Kavita and Karan. Karan will not be able 

to meet Avik. He leaves a message for him. Write this message using not more than 50 words. 

Put the message in a box.            [4] 

    Kavita : Hello! Hello! I am Kavita from Indore. Can I speak to Avik? I am his sister. 

   Karan: Hello! Kavita, I am Karan, Avik’s colleague. Avid is on leave today. Can I take a 

message?  

   Kavita: Yes, Karan. I am coming to Mumbai tomorrow. Ask him to pick me up at the airport.  

I have an interview for the post of Scientist at NPL on the day after tomorrow. 

   Karan: Which flight are you coming on? 

   Kavita: It is the Jetline flight which arrives there at 7:15 or so in the morning. I am bringing 

along with me that big box which contains his books. I hope it won’t be any trouble for 

you.  

   Karan: Not at all. I will leave a message on his table. Okay, Kavita.  

   Kavita: Thank you , Karan. Bye.  

OR 

You are Saral /Sarala , the head boy/girl of JVN school, Panipat and you want to organise a flood 

relief camp for Odissa. Write a notice in 50 words to request the students to donate clothes, 

medicine and dry food items. Mention that no cash donation will be accepted.   

B.5 Sumita wants to buy a watch for her use and visits a watch shop. She has a dialogue about it 

with the salesman. Construct this dialogue between her and the salesman in a suitable way in 

about 100 words.           [4] 

B.6      (i)  Change them into indirect speech: -                     [2] 

 (a) She said to me , “I met this man two days ago” . 

 (b) The teacher said, “The sun rises in the east.” 

          (ii)  Fill in the blanks with correct form of given verbs : -      [2] 

 (a) I shall telephone you when she …………. (return).  

 (b) The ship ………… (sink) before help could reach her.           

          (iii) Correct the following sentences and rewrite them.        [2] 

               (a) The general as well as his staff were there. 

               (b) The secretary and treasurer take a walk every morning  
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          (iv) Write subject and predicate of these sentences.        [2] 

 (a) How sweet this rose smells!  

 (b) Blessed are the merciful    

          (v) Change these sentences into given degree of comparison .        [2] 

 (a) Lead is the heaviest of all metals.  (Positive degree) 

 (b) He is as wise as Solomon. (Comparative degree).  

         (vi)  Join these two sentences using a connector and rewrite it.  

Mary has won the first prize. Many is not satisfied.       [1] 

      (vii)  Re-arrange the following words/phrases to make meaningful sentences .    [2] 

 (a) Chris/his sister curly/with their mother/ Mumbai/and /went to / for a holiday. 

 (b) Saved /the mother / over the years/ had / some money / so that / they could /  

     a sea-side/enjoy. 

                 (viii) Fill in the blanks with Determiners –        [2] 

  (a) My sister can’t buy ………….. materials on makeup (some, any) 

  (b) There is ………… joy in life (much/many) 

       B. 7.     (i) Write one word for the underlined words.         [1] 

  On the main road, the motorist increased his speed.   

                   (ii)   Write the synonyms of haste.          [1] 

                  (iii) Complete this underlined phrases. 

  They had the agreement in black and ……………      [1] 

                  (iv)  Complete this simile -       As light as ……….  .        [1] 

                  (v) Write the figure of  speech of given sentence -          

  ‘She was a tower of strength in their trouble.         [1] 

Section-C – (Literature)     [25 Marks] 

       C.8 Read this line and answer the questions given below: -  

  ‘Pipe a song about a Lamb!’              [1x3=3] 

  (a) Who said these words and to whom. 

  (b) Where did the person addressed see the speaker?  

  (c) What does Lamb symbolise? 

        OR  

  ‘Thou’rt wrong, my friend ……………’ 

  (a) Who said these words to whom? 

  (b) Why does the speaker think like that? 

  (c) What is your own opinion of the speaker’s view.  
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       C.9 Read this line and answer the question given below: -    [1x3=3] 

  ‘The very thought of it makes me giddy”.  

  (a) Who is the speaker of this line?  

  (b) What thought makes the speaker giddy? 

  (c) Why is the speaker so afraid?   

OR 

  ‘Was it the Beijing Athlete?  

  (a) Who said this and whom did he ask?  

  (b) What had the narrator said he wanted to do?  

  (c) Who was the Beijing Athlete? What had happened to him?  

C 10. Answer any five questions given below : -       [2x5=10] 

 (a) Where is the Great wall? What would you find on either side of the wall?  

 (b) Describe the scenic beauty of the Himalayas in your own words. 

 (c) Describe the figure of the oxen on the tower.  

 (d) Who was Dr. Gopal Rao? Why was Cyril impressed by him? 

 (e) How did uncle Podger get all the family member involved? 

 (f) What was the soldiery thing that Raina wanted to do? 

C 11.  What was Dell’s possession of pride? What did she do with it? How did Jim get a gift for 

Della? What does this tell you about both of them?       [4] 

C 12. Write a character sketch of Nancy.         [3] 

C 13. What happened to Oliver Twist at the end of the Story?       [2] 

  

 

***************** 
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I. Choose the correct answer:-      

              1.  The study of past with the help of past remains is

                   a)  History    b)  Archaeology

             2.   Mesolithic period extends 

                   a)  from 12000years ago to 5000 

                   b)  from 8000 years ago to 5000 years ago

                   c)  from 12000 years ago to 10000 years ago

                   d)  from2million years ago to about 12000years ago

             3.  Factory in Archaeology is a place 

                   a) Stone tools of early men  are found

                   c)  Early man made clothes 

              4.  Rulers of Dakshinapatha were

                   a.  Uprooted and their kingdoms were made a part of Samudragupta's empire.

                   b.  defeated by Samudragupta and were allowed to rule

                   c.  the neighbouring states of Samudragupta's empire,

                   d.  none. 

II. Answer these questions very briefly:

                1.  What is  the silk route? 

                2.  Who was Megasthenes? 

                3.  What  is the philosophy of ashrama?

                4.  What is vihara? 

                5.  What is megalith? 

                6.  What is veda?  

                7.  What do you mean by dynasty?

III. Write these answers in short:     

             1.Why were metals, the  wheel and the plough important

             2.What were the new administrative arrangements during the period of Samudragupta?
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The study of past with the help of past remains is 

Archaeology    c)  Both    d)  None of these.

from 12000years ago to 5000 years ago 

from 8000 years ago to 5000 years ago 

from 12000 years ago to 10000 years ago 

from2million years ago to about 12000years ago 

actory in Archaeology is a place where 

are found  b)  Early man's huts are found

   d) Only food items are found.

Rulers of Dakshinapatha were 

their kingdoms were made a part of Samudragupta's empire.

defeated by Samudragupta and were allowed to rule  again 

the neighbouring states of Samudragupta's empire, 

briefly:       

is the philosophy of ashrama? 

hat do you mean by dynasty? 

       

wheel and the plough important  for the Harappans? 

hat were the new administrative arrangements during the period of Samudragupta?
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  [1x4=4] 

None of these. 

Early man's huts are found 

Only food items are found. 

their kingdoms were made a part of Samudragupta's empire. 

  [1x7=7] 

  [2x3=6] 

 

hat were the new administrative arrangements during the period of Samudragupta? 



 

 

IV. Answer  the following in detail :          [2x5=10] 

             1. What were the main features of bhakti? 

             2. What were the problems that Ashoka wanted to solve by introducing Dhamma? 

                                 CIVICS 

I. Choose the correct answer:-      

1. India's national anthem is composed by           [1x2=2] 

                  a. Mahatma Gandhi         b. Rabindra Nath Tagore    

     c.  Bankim Chandra Chattopadhyaya   d. Sardar Patel  

             2.  Sarpanch is elected by 

                a. All  Panch       b.  all members of gram sabha   

   c. Vidhan sabha members   d.  None of these. 

             3. Answer in a very short way:        [1x2=2] 

               (a) Give one reason why small workshops and factories employ casual workers. 

               (b) Why did Bachchu Majhi come to the city? 

II. Answer in short :   

             1.What did Ganga Bai do to get her society cleaned regularly?        [3] 

             2. What is Hindu Succession Amendment Act, 2005? How do women benefit under this law? [1+2=3] 

             3. What are the different ways in which people participate in the process of government?  [3] 

             4. List any three ways in which government affects our daily lives.      [3] 

             5. There is a  stereotype about girls that they are a burden on their parents.  Write any three effects  

    that this stereotype can have on the way daughters get treated in the house.   [3] 

III. Write in detail: 

           1. What were the two sources of income of Sekar apart from farming? Write any three steps that  

the government can do to help farmers like Sekar?                            [2+3=5] 

 

 

 

 

 

 

 

 


